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OO SELECT * FROM

CR_BKG_INTMD_SHMT_ PARTITION BKGSHMTRESULT
WHERE BKGSHMTRESULT.BKG_CFM_ID =:B1 AND
BKGSHMTRESULT.COMP_ID =:B2 [J V$SESSION_LONGOPS
OO0O00000CR_BKG INTMD_SHMT_PARTITION

[J FULL TABLE SCANO O
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0 (BKG_CFM _IDO COMP_ID)O O O OO O Global Indexd [ [
Jod0o0dodododododooododo sQLagt.
Oselect * from table(dbms_xplan.display()).

PLAN_TABLE OUTPUT

value: 772272200



Pstop |

SELECT STATEMENT || 1880 |5 (0)] 00:00:01 ||| |1 | TABLE
ACCESS BY GLOBAL INDEX ROWID|
CR_BKG_INTMD_SHMT_PARTITION | 1]880 |5 (0)| 00:00:01 |
ROWID | ROWID | |* 2 | INDEX RANGE SCAN |
CR_BKG_INTMD_PARTITION_IDX03 | 1|4 (0)] 00:00:01 |||

access("BKGSHMTRESULT"."BKG_CFM_ID"=TO_NUMBER(:B
1) AND "BKGSHMTRESULT"."COMP_ID"=:B2) J 0O UJ [
OSQL IDOUOODOUOLDOOOUOOOUODONONO SQLgt.
SELECT * FROM

TABLE(DBMS_XPLAN.DISPLAY_CURSOR (fOmwugfxxmtmf, 0,
ADVANCED)). PLAN_TABLE _OUTPUT

------------------------------------- SELECT * FROM
CR_BKG_INTMD_SHMT_PARTITION BKGSHMTRESULT
WHERE BKGSHMTRESULT.BKG_CFM_ID =



'V_BKG_CFM_ID AND BKGSHMTRESULT.COMP_ID =
'VV_COMP_ID Plan hash value: 3035855418 100Test 1 0 0 0 0 O
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